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6th Oct. RRB NTPC Reasoning Mega Quiz (Questions)

Q1. In the following question, a series is given with one term missing. Choose the correct
alternative from the given ones that will complete the series.

et o 7, ©F e @ 1% § Sad v o o9ra § arvant iR 7 et § & 39 Ao w1 997 w0
& St 2 ST Y T T
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11

120

(a) 19
(b) 16
(c) 15
(d) 17

ud | |
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Q2. Rahul starts and walks towards the south, he then turns to his right and walks 5 kms, then
again turns left and walks 3 kms and then again turns left and walks 5 kms. In which direction is
he from the starting point?

TEH IR0 § AT LF FLAT &, 98 AT ST {=aT g X 5 T sorar §, a8 fh a1¢ H=ar g i< 3 i
JAT § ST T T 97U H=at § $iX 5 &t wrrar 8. 98 qeendt Mg & e Rar d 82

(a) NORTH/3<¥

(b) SOUTH/=feroT

(c) EAST/9&

(d) WEST /qtsw

Q3. Consider the given statement/s to be true and decide which of the given
conclusions/assumptions can definitely be drawn from the given statement.

et gTT g T foam T a<rey Oe 8, A1) 98 9T 9T a1 @ S wedia grar gn snas vty A
g ¥ g 7q a<ver & ffrT &7 @ s-a18 gt el /gaemom et ST aedt 82

Statement: All states having dams face no water problem. One of the states has no dam.

FHAT: THT T A e g IT=T f ohelt THET 7 ATHAT Aol #d . oA § F TH | Al 914 751 &
Conclusions/ fA&FT: 1. It may be facing water problem/ T SWaT ITHT il THEAT T TTHAT FX T&T 2.

I1. Dams solve water problem/ a7l TTHT &t THEAT FHT THTETT FLd 2.

(a) Only conclusion I follows / &<t fAeHT | I AT %’

(b) Only conclusion II follows/ Fae ATt 11 TTHLOT AT T

(c) Both conclusion I and conclusion II follow/ I 3f¥ II fHesd T TTHLIT = d T

(d) Neither conclusion I nor conclusion II follows/ T T fAw=T [ i< a7 5 AR 11 &0 F2aT .
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Q4. How many triangles are there in this figure?

& Tt TR P v 87

(a) 10
(b) 12
(c) 14
(d) 16

Q5. Which of the answer figures illustrate the relationship between:

Fie |1 st fRw o et & i & g9l wir aiar §
Delhi, Sri Lanka, Asia
e, oft e, wheva

(a)
(b)
(c)

(d)

Q6. In the following figure, triangle represents teachers, square represents merchants and circle
represents social workers. Which number space represents Teachers who are social workers?

fRufafea sfa @, Ber et w1 affAfeer wa@r 8 o il o1 B
giafAfder war g &k g arrfos afawi &1 gfafafdea sar & s & JEULETED
geaT I farert 1 giafafde war g sty amnfoe wrdwat 82
RRBNTPC
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(a) 3
(b) 2
(c) 4
(d)5

Q7. Which answer figure will complete the pattern in the question figure?

FI HT IAT MHQA TF AFQT F Gt Y QT FGA?

(d)

Q8. A piece of paper is folded and cut as shown below in the question figures. From the given

answer figures, indicate how it will appear when opened.

TF FITA & Ehe I HIS w9 61 131 Sta1 & A= geriar @ g A= e @ =et @ s i & |

ST 9X T8 TR T T e
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(b)

(c)

(d)
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Q9. If a mirror is placed on the line MN, then which of the answer figures is the right image of the
given figure?

7 W@ MN 9 T 99T @1 91, a1 Rt & @ F a7 s R aftsm & a8 s grfi?
\;y l\k-\

@ [

Q10.If a mirror is placed on the line MN, then which of the answer figure is the right image?

7 T@T MN 9 T 9T @t 9, a1 Rufefa & @ i ar s R afte & o sf¥ gfi?

:
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e to to B

(b)

(d)

Special Offer

Q11. The ratio of the ages of man and his wife is 4 : 3. After 4 years, R R B NTPC 2019
the ratio will be 9 : 7. If at the time of marriage, the ratio was 5: 3, =
how many years ago were they married? STAG E 1

T A6 Sl IThT Tt Y A T AT 4: 3 §. 4 94 1, IThT S FT
AT 9: 7 BT, AT TaaTg F THH, ITh! A &7 ATATT 5: 3 9T, ar 9 e
ay uge faarfRa g o Bilingual | Validity : 2 Months
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(a)12
(b) 24
(c)5
(d)8

Q12.From the given words, select the word which cannot be formed using the letters of the given
word.

RT T 9reRT A, I A5 T TAT L O R T 96 F AW FT STANT F<ah @l aATIT ST THaAT &
ALTERNATIVES

(a) ALTER

(b) NATIVE

(c) TEN

(d) NATIONAL

Q13.If RATION is written as OXQFLK then LUMBER may be writtenas ___.

7T RATION F OXQFLK % &9 & forgT 9Imav §, aF LUMBER &7 ____ % &9 # for@T ST ket &.
(a) KTLADQ

(b) ITJABQ

(c) OXPEHU

(d) IRJYBO

Q14. A*B means multiply A by B; A@B means divide A by B, A?B means add B to A and A=B means
subtract B from A. Then find the value of 10*10 = 5*10 ? 50@10

A*BFTATAFTBHAIUNE; A @ BFHT AT AF B ¥ ATSIT FLATE, A?B F7 515 BH A F7TTT ¢ < A=B FT
ool B ¥ A &l 9T &.

AT 10*10 = 5*10 ? 50@10 FT HTF ATT HIforT?

(a) 100

(b) 45

(c) 1000

(d) 55

Q15.1f37*14 =17,

69*33 = 34,

91*125 =72

then what should 28*56 =?
g% 37*14 = 17,

69*33 = 34,

91*125 =72

qv 28*56 = ? & {TH fohaT T
(a) 26

(b) 42

(c) 34

(d) 28
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Q16. Select the missing numbers from the given responses
& TS wieee § ¥ T 94T F TAT F-
21| 5 | 70

45 | B7 B4

115 | 150 !

(a) 110
(b) 120
(c) 130
(d) 140

Q17.P started walking from North to South. She turned right at right angle and then again right at
right angle. In which direction was she ultimately walking?

P 7 ST & ferer it Sl =T = AT, a8 97 9% I qEAT § AT R FHahior 9% I {edt B, 98 e
# frer feem & =1 W 82

(a) North/3d¥

(b) East/ 7&

(c) South/ =fe&rur

(d) West/ 9t

Q18. In each of the following question below are given some statements followed by some
conclusions. Taking the given statements to be true even if they seem to be at variance from
commonly known facts, read all the conclusions and then decide which of the given conclusion
logically follows the given statements.

T feg & woy #, <1 e R g € Sere A < e 18R 11 R g 8. straeer g g 9 o< /e
& WA Bt & gasTa adt & e whta gia &t e st et #3ar § & aft Re @ Repat § @ s ar
TR T FAAT FT SITHLIT HEAT &,
Statements/FI:

I. Some pins are cups/ﬁﬁ?aﬁtr%’.
II. No cup is book/‘eﬁéﬁﬁqﬂ?ﬁﬂgﬂ‘%’.
Conclusions/fAeHy:

I. Some pins are books/F= fie T 2. SpGCiaI Offer

I. Some pins are not books/F® U7 % 75! &.

(a) Only conclusion (I) follows /@ AeH (1) FTELI FIAT & RRB NTPC 2019
(b) Only conclusion (II) follows / Fae fAeRT (11) STTHLOT AT %’ STAG E_'I

(c) Both conclusion follow / &1 Aty AT Fd %’

(d) Neither conclusion (I) nor conclusion (II) follows/ AT fHsFT (I)AT & 35 TOTAL TESTS
ferad (1) ST e 2 Bilingual | Validity : 2 Months
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Q19. How many quadrilateral are there in the given figure ?

& TS SpfA H R =g &2

(a) 2

(b) 3

(c) 4

(d)5

Q20.Identify the diagram that best represents the relationship among classes given below-
F=r R g Tt F i GaE 1 gad a=ar Tt F39 a1 dRE i g4 -

Men, Rodents and living beings

&Y, Faa < Shfaa groft

@

(b)
OO0

(d) EEEEE
®
O

Q21. In the following question, select the related word from the given alternatives.
FRafifea v &, Ru g Reweat § & gwaftaa ass fTaga w1

Player: Team : : Minister: ?

(ECE L1 AT I 1 B

(a) Army/ 54T

(b) Troupe/ g

(c) Council/au=

(d) Crowd/ fig

Q22. In the following question, select the related letters from the given alternatives.
e v ®, fRe 1w [eedt § 9 g g aut 1 999 w2

TRACK: MECTV:: POND:?

(a) EOPQ

(b) FPQR

(c) GOQQ

(d) HPPR
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Q23. In the following question, select the related number from the given alternatives.
et v #, R g Rewet § 9 awafFaa g1r #1939 :3

850:863::430:?

(a) 437

(b) 442

(c) 435

(d) 451

Directions (24-26): In the following question, select the related word from the given alternatives.

Fuferiea v &, Ry 7T Raedi § 9 grafead o058 FT 999

Q24.LMNO : NQTW :: GHIJ : ?
(a) ILOR

(b) ILRO

(c) ILMO

(d) LRMO

Q25.11:120::13:7?
(a) 165
(b) 168
(c)170
(d) 169

Q26.103:10609::106:?
(a) 10606
(b) 10306
(c) 11236
(d) 13636

Q27. A series is given, with one word missing. Choose the correct alternative from the given ones
that will complete the series.

T S@T <1 7%, g O T o/ o =1a g vt fRu 1 fawedi & 9 59 fAew &7 99« F3ar § S 59 s9ar &
T FEM?

upset, aurora, spurn, strut, status, ?

(a) treasure

(b) perfect

(c) right

(d) unlque A g:ltﬁli:aatiuns

Q28. A series is given, with one term missing. Choose the correct A COMPREHENSIVE
alternative from the given ones that will complete the series. GUIDE FOR

T SEeT &) 5 & rad v o awra € oy R au At # & 5q fAwer RRB NTPC STACE-14 2

(English Medium)

T HLAT § S H HGAT Tl G HAT?

LN, QSV,? 4500+ "',','L'E:rv"'
oY " i)

oottt o %
(C) Z 5 for Each & Every

Previous Raemtion
(d) X o

ssC
addazT o [
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Directions (29-30): In the following question, select the number which can be placed at the sign of
question mark (?) from the given alternatives.

AatfT A, ST arsa R e R daw R () F R R @ sTawar g

Q29.

12 3 [ 4 8 &
4 2 1 8 3 T

(@)1
(b) 2

(c) 4
(d) 12

Q30.

85

b L] =k
o
o

(a) 12
(b) 24
(c) 26
(d) 29

i ) Special Offer Special Offer
RRBNTPC RRBNTPC 2019 RRB NTPC 2019
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